# **RESOLUTIONS INDEX**

# Minutes August 18, 2008

No.	Resolution Title	Page
	Presentations of the Superintendent	
29	❖ Award of Bids #423, 432, 440, 785, 490 and 767	2
29	❖ Change of Award of Bid #448	2
30	❖ Approval of Budget Transfers	3
30	<ul> <li>Approval of Contract Extension and Purchase Orders</li> </ul>	3

#### **MINUTES**

**Date of Meeting:** 

**August 18, 2008** 

Type of Meeting:

**Special Meeting** 

Place of Meeting:

Administration Building - Conference Room

**Members Present:** 

President Patrick E. Gallagher

Vice President Roy Lester Board Member Gergen Board Member Ryan

Members Absent:

**Board Member Alvarado** 

Others Present:

Dr. Robert Greenberg, Superintendent

Dr. Randie Berger, Assistant Superintendent –
Personnel and General Administration
Ms. Helen Cheliotes, Assistant Superintendent –

Curriculum

Ms. Joyce Hanechak, Treasurer Mr. Tom Ritzenthaler, C+S Arch Ms. Eileen Lilly, District Clerk

I. President Gallagher called the meeting to order and led the Pledge of Allegiance at 6:40 PM.

Call to Order and Pledge

II. President Gallagher called for Questions and Comments from the Public – Items on Today's Agenda Only.

There were none.

Questions and Comments from the Public – Tonight's Agenda Only

# III. President Gallagher called for Board of Education Comments.

Vice President Lester inquired about bid #423 Milk and Milk Products expressing concern about plastic packaging and whether there are hormones in the milk we buy.

Board of Education Comments

President Gallagher and Vice President Lester commented on the need for a good sound system at the pool.

President Gallagher called for the Presentations of the Superintendent: Dr. Greenberg recommended items IV. 1. and IV. 2. in a combined vote.

#### IV. 1. AWARD OF BIDS:

**BE IT RESOLVED THAT**, upon the recommendation of the Superintendent of Schools, the Board of Education approves the award of bids as follows:

- a) Bid # 423 Milk and Milk Products;
- b) Bid # 432 Specialty Provisions;
- c) Bid # 440 Bread and Fresh Bakery Products;
- d) Bid # 785 Paper Products;
- e) Bid # 490 Natatorium Sound System; and,
- e) Bid # 767 Out of District Transportation.

Resolution # 29 Award of Bids

and

Change of Award of Bid #448

# IV. 2. CHANGE OF AWARD OF BID #448 – VENDING & CATERING BEVERAGES:

**BE IT RESOLVED THAT**, upon the recommendation of the Superintendent of Schools, the Board of Education approves the change of award of items #33 and #34 in Bid # 448 due to contractual obligations of the vendors.

President Gallagher called for a motion on items IV. 1. and IV. 2.

Motion by: Board Member Gergen Seconded by: Board Member Lester

Approved: 4-0

Resolution #30

**Transfers** 

and

Approval of Budget

**Approval of Contract** 

**Extension and** 

Purchase Orders

Dr. Greenberg recommended the approval of items IV. 3. and IV. 4. in a combined vote.

### IV. 3. APPROVAL OF BUDGET TRANSFERS

**BE IT RESOLVED THAT,** upon the recommendation of the Superintendent of Schools, the Board of Education approves the requested budget transfers.

# IV. 4. APPROVAL OF CONTRACT EXTENSION AND PURCHASE ORDERS

### BE IT RESOLVED THAT, upon the

recommendation of the Superintendent of Schools, the Board of Education approves extension of contract between the Long Beach Public Schools and CSDNET and the purchase orders associated with execution of that contract for the 2008/09 school year.

President Gallagher called for a motion on items IV. 3. and IV. 4.

Motion by: Board Member Gergen Seconded by: Vice President Lester

Approved: 4-0

V. President Gallagher called for Board of Education – Additional New/Old Business, if any.

Board of Education – New/Old Business

VI. President Gallagher called for a motion to

adjourn at 6:52 PM.

There was none.

**Board Member Gergen** 

Seconded by:

Motion by:

**Board Member Ryan** 

Approved: 4-0

Adjournment of Special Meeting President Gallagher called for a motion at 6:52 PM to go into executive session for the purpose of discussing personnel matters relating to specific personnel, real estate matters and pending and proposed legal matters.

Motion to Go into Executive Session

Motion by:

**Board Member Gergen** 

Seconded by:

**Vice President Lester** 

Approved:

4-0

President Gallagher called for a motion to adjourn at

10:35 PM.

Motion by:

**Board Member Ryan** 

Seconded by:

Vice President Lester

Approved:

4-0

Motion to Adjourn Executive Session

Minutes submitted by:

Eileen Lilly, District Clerk September 19, 2008

Gilew Killy

## Bid #423 Milk and Milk Products - AWARD Long Beach City School District

**School Year 2008 - 2009** 

Bid			Estimated		Oaktree	
item #	Description	Pack Size	Quantity	Awarded	Farms	Extension
1*	Homo Milk (1/2 pts)	1/2 pt	2,000	Awarded	\$0.25	\$500.00
2	Homo Milk (Gal)	gallon	200	Awarded	\$3.59	\$718.00
3a*	Low Fat 1% (1/2 pts) - Carton	1/2 pt	120,000	Awarded	\$0.25	Majority: order plastic 1/2 pints
3b*	Low Fat 1% (1/2 pts) - Plastic	1/2 pt	120,000	Awarded	\$0.31	\$37,200.00
4	Low Fat 1% (Gal)	gallon	200	Awarded	\$3.59	\$718.00
5*	Skim Milk (1/2 pts) - Carton	1/2 pt	1,000	Awarded	\$0.25	\$250.00
6	Skim Milk (Gal)	gallon	50	Awarded	\$3.59	\$179.50
7a*	Chocolate 1% Milk (1/2 pts) - Carton	1/2 pt	125,000	Awarded	\$0.25	Majority: order plastic 1/2 pints
7b*	Chocolate 1% Milk (1/2 pts) - Plastic	1/2 pt	125,000	Awarded	\$0.31	\$38,750.00
8a*	Strawberry 1% Milk (1/2 pts) - Carton	1/2 pt	30,000	Awarded	\$0.25	Majority: order plastic 1/2 pints
8b*	Strawberry 1% Milk (1/2 pts) - Plastic	1/2 pt	30,000	Awarded	\$0.31	\$9,300.00
9a	Cottage Cheese (5 lb)	5 lb	60	Awarded	\$9.60	\$576.00
9b	Cottage Cheese (5 lb) - Low Fat	5 lb	60	No Award	No Bid	
10a	Cottage Cheese (1 lb)	1 lb	100	Awarded	\$2.29	\$229.00
10b	Cottage Cheese (1 lb) - Low Fat	1 lb	100	Awarded	\$2.29	\$229.00
11	Sour Cream (5 lb)	5 lb	10	Awarded	\$10.90	\$109.00
12	Sour Cream (1 lb)	1 lb	50	Awarded	\$1.59	\$79.50
13	Half and Half (qts)	quart	500	Awarded	\$1.99	\$995.00
14	Eggs- Extra Large ( 15 Dozen Case)	case	50	Awarded	\$20.25	\$1,012.50
15a	Yogurt - Plain (qts)	quart	150	Awarded	\$1.79	\$268.50
15b	Yogurt - Vanilla (qts)	quart	150	No Award	No Bid	
16	Heavy Cream (qts)	quart	50	Awarded	\$3.59	\$179.50
17	Low Fat Butter Milk(qts)	quart	50	No Award	No Bid	
18	Whipping Cream (qts)	quart	50	No Award	No Bid	

<sup>\* =</sup> Wrapped straws for items starred included in price.

Total

\$91,293.50

\* 4 Items Not Bid

# Bid #432 Specialty Provisions - AWARD Long Beach City School District

Bid Item #	Items & Description	Pack/ Size	Estimated Yearly Usage	Acceptable Brand	Awarded	Arthur G. Bischoff Provisions, Inc.	Extension
1	Bologna, All Beef	LB	2000	Boar's Head	Awarded	\$3.09	\$6,180.00
2	Bologna, Pork & Beef	LB	2000	Boar's Head	Awarded	\$2.29	\$4,580.00
3	Cheese, Cheddar	LB	300	Boar's Head	Awarded	\$3.59	\$1,077.00
4	Cheese, Mozzarella, Slicing	LB	300	Boar's Head	Awarded	\$3.00	\$900.00
5	Cheese, Muenster	LB	300	Boar's Head	Awarded	\$2.90	\$870.00
6	Chesse, Provolone	LB	300	Boar's Head	Awarded	\$2.99	\$897.00
7	Cheese, Swiss	LB	300	Boar's Head	Awarded	\$3.85	\$1,155.00
8	Chicken Breast, All Flavors	LB	1000	Boar's Head	Awarded	\$3.69	\$3,690.00
9	Corn Beef Round	LB	200	Boar's Head	Awarded	\$4.49	\$898.00
10	Dry Coppa (Hot/Sweet)	LB	200	Boar's Head	Awarded	\$7.19	\$1,438.00
11	Frankfurter, 100% All Beef 8/lb, Natural Casing	LB	2000	Boar's Head	Awarded	\$3.29	\$6,580.00
12	Frankfurter, 100% All Beef 8/lb, Skinless	LB	2000	Boar's Head	Awarded	\$2.59	\$5,180.00
13	Ham, Black Forest	LB	500	Boar's Head	Awarded	\$3.85	\$1,925.00
14	Нат Сарру	LB	500	Boar's Head	Awarded	\$3.99	\$1,995.00
15	Ham, Honey Maple	LB	500	Boar's Head	Awarded	\$3.95	\$1,975.00
16	Ham, Virginia	LB	1000	Boar's Head	Awarded	\$3.99	\$3,990.00
17	Ham 4 x 4 boiled fully ckd (Hamcraft)	LB	2000	Boar's Head	Awarded	\$2.69	\$5,380.00
18	Mortadella	LB	200	Boar's Head	Awarded	\$2.69	\$538.00
19	Pastrami, 1st Cut, Brisket	LB	300	Boar's Head	Awarded	\$4.79	\$1,437.00
20	Pepperoni, Slicing	LB	200	Boar's Head	Awarded	\$3.19	\$638.00
21	Roast Beef, fully ckd 1/2 Top Round	LB	2000	Boar's Head	Awarded	\$5.19	\$10,380.00
22	Salami, Genoa	LB	500	Boar's Head	Awarded	\$4.29	\$2,145.00
23	Salami, Hard	LB	300	Boar's Head	Awarded	\$4.10	\$1,230.00
24	Sopressata (Chubs), Slicing	LB	100	Boar's Head	Awarded	\$5.99	\$599.00

# Bid #432 Specialty Provisions - AWARD Long Beach City School District

Items & Description	Pack/ Size	Estimated Yearly Usage	<b>!</b>	Awarded	Arthur G. Bischoff Provisions, Inc.	Extension
Turkey Breast, Maple Glazed	LB	300	Boar's Head	Awarded	\$4.59	\$1,377.00
Turkey Breast, Premium Skinless	LB	300	Boar's Head	Awarded	\$3.95	\$1,185.00
Turkey Breast, Ovengold, Skinless	LB	1000	Boar's Head	Awarded	\$4.29	\$4,290.00
Turkey Breast, OvenGold, Skin On	LB	1000	Boar's Head	Awarded	\$4.29	\$4,290.00
Turkey Breast, Smkd Cracked Pepper	LB	200	Boar's Head	Awarded	\$4.49	\$898.00
					Total	\$77,717.00
The second secon	Turkey Breast, Maple Glazed  Turkey Breast, Premium Skinless  Turkey Breast, Ovengold, Skinless  Turkey Breast, OvenGold, Skin On	Items & DescriptionSizeTurkey Breast, Maple GlazedLBTurkey Breast, Premium SkinlessLBTurkey Breast, Ovengold, SkinlessLBTurkey Breast, OvenGold, Skin OnLB	Items & DescriptionPack/SizeYearly UsageTurkey Breast, Maple GlazedLB300Turkey Breast, Premium SkinlessLB300Turkey Breast, Ovengold, SkinlessLB1000Turkey Breast, OvenGold, Skin OnLB1000	Items & DescriptionPack/SizeYearly UsageAcceptable BrandTurkey Breast, Maple GlazedLB300Boar's HeadTurkey Breast, Premium SkinlessLB300Boar's HeadTurkey Breast, Ovengold, SkinlessLB1000Boar's HeadTurkey Breast, OvenGold, Skin OnLB1000Boar's Head	Items & DescriptionPack/SizeYearly UsageAcceptable BrandAwardedTurkey Breast, Maple GlazedLB300Boar's HeadAwardedTurkey Breast, Premium SkinlessLB300Boar's HeadAwardedTurkey Breast, Ovengold, SkinlessLB1000Boar's HeadAwardedTurkey Breast, OvenGold, Skin OnLB1000Boar's HeadAwarded	Items & DescriptionPack/SizeYearly UsageAcceptable BrandAwardedArthur G. Bischoff Provisions, Inc.Turkey Breast, Maple GlazedLB300Boar's HeadAwarded\$4.59Turkey Breast, Premium SkinlessLB300Boar's HeadAwarded\$3.95Turkey Breast, Ovengold, SkinlessLB1000Boar's HeadAwarded\$4.29Turkey Breast, OvenGold, Skin OnLB1000Boar's HeadAwarded\$4.29Turkey Breast, Smkd Cracked PepperLB200Boar's HeadAwarded\$4.49

- AWARD Bid " 40 Bread Part A /Fresh Bakery Products Part Long Beach City School District

2000 V ear 2008 0400

U

A			Est		Lorden				Grimaldi	
Item #	t Description	Unit	Qnty	Award	Bagel	Extension	Metro	Extension	Bakery	Extension
	Part A - Bread Products									
fron .	White Bread	Loaf	4000	Award		·	\$1.75	Total Quantity		
2	Whole Grain Bread	Loaf	4000	Award			\$1.80	specific types		
က	Whole Wheat Bread	Loaf	4000	Award			\$1.80	\$7,200.00		
4	Hotdog Rolls	DZ	1000	Award			\$1.50	Total Quantity		
ហេ	Hotdog Rolls Whole Grain	ZQ	1000	Award			\$2.00	specific types		
ဖ	Hotdog Rolls Whole Wheat	DZ	1000	Award			\$2.00	\$2,000.00		
7	New England Hotdog Roll	DZ	1000	Award			\$2.25	\$2,250.00		
œ	Hamburger Rolls	ZQ	2000	Award			\$1.80	Total Quantity		
တ	Hamburger Rolls Whole Grain	ZQ	5000	Award			\$2.00	s a combo or 3-		
<b>5</b>	Hamburger Rolls Whole Wheat	ZQ	2000	Award			\$2.00	\$10,000.00		
den den	Hamburger Rolls Seeded	DZ	500	Award			\$1.90	\$950.00		
12	Hoagie's (Steak Rolls)	ZG	1000	Award			\$2.00	\$2,000.00		
13	Small Dinner Rolls	DZ	1000	Award			\$1.80	\$1,800.00		
14	Rye Bread - (unseeded)	Loaf	200	Award			\$3.00	Onty - combo of 2 spec types		

\$650.00

\$3.25

\$350.00

\$3.50

No Award

200

Loaf

Award

100

Loaf

Pumpernickel Bread

 $\tilde{\omega}$ 

Marble Bread

ک ص

Award

100

Loaf

Award

100

Loaf

Award

200

Loaf

Rye Bread - (seeded)

**10** 

Onion Rye Bread

<u>ش</u>

**Everything Bread** 

\$325.00

\$3.25

\$350.00

\$3.50

- AWARD Bid ' '40 Bread Part A /Fresh Bakery Products Part

Scho Year 2008 - 2009

			Пsf		Lorden				Grimaldi	
item #	fem # Description	S.	Unit Onty	Award	Bagel	Extension	Metro	Extension	Bakery	Extension
20	Potato Hamburger Roll	DZ	2000	No Award						
21	Potato Hotdog Roll	ZQ	2000	No Award						
22	New England Potato Hotdog Roll	ZQ	500	No Award						
23	Specialty Breads	Loaf	300	Award			\$3.50	\$1,050.00		
24	Texas Sliced Bread	Loaf	500	Award			\$2.25	\$1,125.00		
				-	Total A	\$0.00	Total A	\$30,050.00 Total A	Total A	\$0.00

Part B - Fresh Bakery Products

- U m 4 m 0 r m 0	Fresh Bakery Bagels: Plain/Varieties Fresh Bakery Mini Bagels: Plain/Varieties Fresh Bakery Vienna/Kaiser/Hard Rolls: Plain/Varieties Fresh Bakery Vienna/Kaiser/Hard Rolls: Plain/Varieties Fresh Bakery Whole Grain - Vienna/Kaiser/Hard Rolls: Plain/Varieties Fresh Bakery French Bread Fresh Bakery French Bread - Whole Grain Fresh Bakery Large Club Rolls Fresh Bakery Large Club Rolls	DZ	7000 1000 5000 5000 3000 1000	Award Award Award Award Award Award Award Award	\$1.90	\$16,450.00	\$2.00 \$2.50 \$1.00 \$1.25 \$2.00	Total Quantity is a combo of 3 specific types \$12,500.00 anty - combo of 2 spec types \$3,750.00 \$4,000.00 \$2,000.00	
10	Fresh Bakery Hero Rolls	DZ	1500	Award			\$3.50	\$5,250.00	
4	Fresh Bakery Italian Bread	Loaf	200	Award			\$1.00	\$200.00	

			24				23	22	21	20	19	00 ==y	7	16	15	14	ដ					12	item #	
c. full sheet	b. 1/2 sheet	a. 1/4 sheet	Fresh Bakery Sheet Cake: Whipped Cream	c. full sheet	b. 1/2 sheet	a. 1/4 sheet	Fresh Bakery Sheet Cake: Buttercream	Fresh Bakery Italian Cookies	Fresh Bakery Butter Cookies	Fresh Bakery Donuts (Filled)	Fresh Bakery Donuts (Cake)	Fresh Bakery Demi Danish	Fresh Bakery Mini Danish	Fresh Bakery Danish	Fresh Bakery Mini Muffins-Assorted	Fresh Bakery Muffins - Assorted	Fresh Bakery Round Panelle Bread	a. 6 ft.	c. 5 ft	b. 4ft	a. 3 ft	Fresh Bakery Italian Hero Bread	# Description	
рс	9	g	1	рс	g	pc		Б	dl	DZ	DZ	DZ	DZ	DZ	DZ	DZ	Loaf	Loaf	Loaf	Loaf	Loaf		ت ت ت	
25	25	25		25	25	25		50	50	100	100	200	200	100	500	200	25	50	50	50	ე 0		Qnty	ក្ន
No Award	No Award	No Award		No Award	No Award	No Award		No Award	Award	Award	Award	No Award	Award	Award	Award	Award	No Award	Award	Award	Award	Award		Award	
													\$3.75		\$3.50								Bagel	Lorden
													\$750.00		\$1,750.00								Extension	
									\$12.00	\$5.00	\$5.00			\$8.00		\$6.50		\$18.00	\$15.00	\$12.00	\$9.00		Metro	
									\$600.00	\$500.00	\$500.00			\$800.00		\$1,300.00		\$900.00	\$750.00	\$600.00	\$450.00		Extension	
	-																						Bakery	Grimaldi
																							Extension	

		27	26		N Oi	Item #	
		Fresh Bakery Croissants - Filled	Fresh Bakery Croissants - Plain - 4oz.	a. mini size b. large size - sold per piece	Fresh Bakery Italian Pastries	Item # Description	
			DZ	ਰ		Cni	
			100	25 25			) (1
		No Award	Award	No Award No Award		Award	
Total (A&B)	Total B					Bagel	ا محملمه
	\$20,850.00 Total B					Extension	
\$20,850.00 Total (A&B)	Total B		\$8.00			Metro	
\$64,950.00	\$34,900.00 Total B		\$800.00			Extension	
\$64,950.00 Total (A&B)	Total B					Bakery	Orimole!
\$0.00	\$0.00					Extension	

Bread

# Bid #785 - Paper Products - AWARD Long Beach City School District

mr	T	Pack/	Est	П	<b>II</b>	1	T	T
, #	Item / Description	Size	Qnty	Award	APPCO	Extension	Bar-Boy	Extension
1	Aluminum Foil .0007 gauge, with dispenser box							- LACONOTON
	12" x 1000°	1	20	Award	\$25.89	\$517.80		
	18" x 1000'	1	80	Award			\$38.70	\$3,096.00
2	Aluminum Interfold 9 x 10 3/4, Kaiser #78 or equal, 200 sheets, 12 dispenser box/case	12/200ct	20	Award	\$52.73	\$1,054.60		
3	Aluminum Interfold 12 x 10 3/4 , Kaiser #70 or equal, 200 sheets, 12 dispenser box/case	12/200ct	40	Award			\$55.74	\$2,229.60
4	Aluminum Pans 9" x 2" deep, round pans with lids Alcan #516-4 or equal	500 ct	10	Award	\$47.83	\$478.30		
5	Aluminum Pans Full size steam table pans Alcan #20 or equal, 50/cs 2 1/2 " Deep	50 ct	10	Award			\$36.47	\$364.70
	4" Deep	50 ct	10	Award			\$39.08	\$390.80
	6" Deep	50 ct	10	No Award				
	Lids to fit all sizes	50 ct	20	Award			\$19.71	\$394.20
6	Aluminum Pans 1/2 size Pan, Alcan #20 or equal	400	4.0					
	2 1/2 " Deep	100 ct	10	Award			\$24.77	\$247.70
	4" Deep  Lids to fit all sizes	100 ct	10	Award			\$24.37	\$243.70
7	Bowls - Foam Multi use food dish, Lily or equal,	100 ct	10	Award			\$15.24	\$152.40
	5 oz	1000 ct	10	Award	\$16.83	\$168.30		
	12 oz	1000 ct	20	Award	\$16.89	\$337.80		

**Long Beach City School District** 

	Long Beach City School Di			η	т	~	ZUU0 - Z	
Item 4	Item / Description	Pack/ Size	Est Qnty	Award	APPCO	Extension	Bar-Boy	Extension
8	Bowls - Plastic Multi use food dish, Lily, Dixie or equal ** Must provide color samples							
	5 oz White	1000 ct	5	Award			\$22.89	\$114.45
	5 oz Royal Blue	1000 ct	5	No Award	(40			
	7 oz White	1000 ct	5	Award	(10 oz) \$32.89	\$164.45		
	7 oz Royal Blue	1000 ct	5	No Award	No Bid		No Bid	
	12 oz White	1000 ct	5	Award			\$26.62	\$133.10
	12 oz Royal Blue	1000 ct	5	Award	\$39.87	\$199.35		
9	Box Pizza Corr 2" B-Flute 18" x 18"	50 ct	10	Award			\$32.18	\$321.80
10	Catering Plastic Trays - Round Clear or Black	0.5	F				****	
	12"	25 ct	5	Award			\$20.82	\$104.10
	16"	25 ct	5	Award			\$30.97	\$154.85
	18"	25 ct	5	Award	\$37.89	\$189.45		
11	Cellophane 40 x 100 - Clear	1 ct	20	Award			\$6.49	\$129.80
	40 x 100 - Color	1 ct	20	Award	\$8.59	\$171.80		
	20 x 100 - Clear	1 ct	10	Award			\$4.81	\$48.10
	20 x 100 - Color	1 ct	10	Award	\$5.94	\$59.40		
12	Chopsticks, Individually wrapped w/oriental design	1000 ct	10	Award			\$14.34	\$143.40
13	Cups - Cold, Plastic 5 oz., hard, clear	1000 ct	5	Award			\$59.40	\$297.00
	5 oz. translucent	2500 ct	5	Award	\$29.99	\$149.95		
	7 oz., hard, clear	1000 ct	10	Award			\$26.52	\$265.20
	7 oz. translucent	2500 ct	5	Award	\$32.67	\$163.35		
	10 oz., hard, clear	500 ct	10	Award			\$26.30	\$263.00
	10 oz. translucent	2500 ct	5	Award	:		\$59.17	\$295.85

**Long Beach City School District** 

14	Long Beach City School Di		T == .	II	11	·	ZUU0 = 4	
Item	Item / Description	Pack/ Size	Est Qnty	Award	APPCO	Extension	Par Par	Exton
, *	nom r Description	SIZE	wiity	AWard	AFFCU	EXTERISION	Bar-Boy	Extension
14	Cups - Hot							
	Plastic coated paper with handle							
	HP 508 or equal, 1m/cs	4000						
	8 oz	1000 ct	10	Award	<b> </b>		\$46.34	\$463.40
	12 oz	1000 ct	5	Award	\$49.89	\$249.45		
		100000	<u> </u>	7 tward	ψ-10.00	ΨΖ-1010		
	Lids for 12 oz	1000 ct	5	Award			\$19.70	\$98.50
15	Cups - Hot, Styrofoam Cup no handle Lily or equal, 1m per case							
	12 oz foam cup	1000 ct	5	Award			\$23.80	\$119.00
	1:1.6.46	400-	_					
<u></u>	Lids for 12 oz cup	1000 ct	2	Award	<b></b>		\$12.65	\$25.30
16	Cups - Coffee, ThermoGlaze Hot insulated cups, Dart or equal Must be able to fit one dome sip lid 12 oz - Café G	500 ct	20	Award			\$38.14	\$762.80
		<b></b>						-
	16 oz - Café G	500 ct	20	Award			\$48.35	\$967:00
	20 oz - Café G	500 ct	20	Award			\$28.95	\$579.00
	Dome Lid - Sip Lid To Fit All - 12, 16 & 20 oz.	1000 ct	30	Award			\$26.11	\$783.30
17	Doilies, White Lace Round 6" Round	1000 ct	5	Award	<b>\$</b> 7.20	\$36.00		
	<u>o rround</u>	1000 Ct	3	Award	(10")	\$30.00		
	9" Round	500 ct	5	Award	\$12.49	\$62.45		
	12" Round	500 ct	10	Award	\$13.49	\$134.90		
	16" Round	250 ct	5	Award	\$11.92	\$59.60		
	18" Round	250 ct	5	Award	\$16.93	\$84.65		
18	Filter, Coffee - 12 cup	2/500 ct	5	Award			\$7.40	\$37.00
40	Food Doile							
19	Food Pails Pint - White	500 ct	20	Award			\$32.70	\$654.00
	Pint - Oriental Design	500 ct	20	Award			\$32.70	\$654.00
	Quart - White	500 ct	20	Award	\$47.19	\$943.80		
	Quart - Oriental Design	500 ct	20	Award	\$47.19	\$943.80		

**Long Beach City School District** 

r .	Long Beach City School District						2008 - 2009			
Item #	Item / Description	Pack/ Size	Est Qnty	Award	APPCO	Extension	Bar-Boy	Extension		
20	Fry Boat									
20	See Sizes 1/4 lb.	1000 ct	5	Award	\$11.93	\$59.65				
	<u>1/2 lb.</u>	1000 ct	10	Award	\$13.49	\$134.90				
	1 lb.	1000 ct	5	Award	\$16.17	\$80.85				
21	Hinged Containers Clear plastic, 1 compartment Dart or equal 6" x 6" x 3"	500 ct	20	Award	\$34.66	\$693.20				
	8" x 8" x 2"	250 ct	10	Award	\$32.89	\$328.90				
	9" x 8" x 2 1/2"	250 ct	10	Award	Ψ02.00	ψ320.50	\$38.23	\$382.30		
22	Hinged Containers White foam, 1 compartment Gempac or equal 6" x 6" x 3"	500 ct	20	Award			\$22.98	\$459.60		
	8" x 8" x 2"	200 ct	10	Award			\$17.17	\$171,70		
	9" x 6" x 3"	200 ct	20	Award			\$14.82	\$296.40		
23	Napkins 8 3/4" x 13 1/4" White paper, folded, dispenser size, Morgan 201A or equal,	8,000 ct	100	Award	\$22.49	\$2,249.00				
24	Napkins - 2 Ply  ** Must provide color samples	3000 ct	10	Award			\$30.30	\$303.00		
	15 x 17, 1/8 fold -Royal Blue	1200 ct	10	Award	(16 x 16) \$39.69	\$396.90				
	16 x 16, 1/4 fold - White	1000 ct	10	Award	(1200 ct) \$39.69	\$396.90				
	16 x 16, 1/4 fold -Royal Blue	1000 ct	10	Award	(1200 ct) \$39.69	\$396.90				
	10 x 10 Bev - White	1200 ct	10	Award			\$12.08	\$120.80		
	10 x 10 Bev -Royal Blue	1200 ct	10	Award	\$44.73	\$447.30				
25	Parchment Paper Sunshine or equal, 16 x 24, 1m per case	1000 ct	30	Award			\$28.58	\$857.40		
5	Plates, Foam - Oblong tray 2S trays, 1m per case	500 ct	20	Award	\$13.93	\$278.60				
27	Plates, Paper - 6" Uncoated, plain edge, white, Packed 1m per case	1000 ct	40	Award			\$8.26	\$330.40		

**Long Beach City School District** 

T	· · · · · · · · · · · · · · · · · · ·	ity School Di				<del></del>	<del></del>	Т	γ
Item			Pack/	Est					
, 4	Item / Description		Size	Qnty	Award	APPCO	Extension	Bar-Boy	Extension
28	Plates, Paper - 9" Plastic coated, Jazz	or							
ļ <u>.</u>	equal, 1m per case		1000 ct	20	Award			\$50.43	\$1,008.60
29	Plates, Paper - 9" Uncoated, 10/100 ct	packs	1000 ct	20	Award	\$11.93	\$238.60		
30	Plates, Plastic  ** Must provide col	l <b>or samples</b> 7" White	1000 ct	20	Award			\$39.33	\$786.60
		7" Royal Bue	200 ct	20	Award	(240 ct) \$26.93	\$538.60	φ39.33	\$700.00
		9" White	500 ct	20	Award	\$26.93	\$538.60		
		9" Royal Bue	200 ct	20	Award	(240 ct) \$36.79	\$735.80		
31	Plastic Cutlery - Med White , Hallmark or e	•	- 1000 ct	200	Award	\$7.09	\$1,418.00		
		Forks	1000 ct	200	Award	\$7.09	\$1,418.00		
 		Knives	1000 ct	100	Award	\$7.09	\$709.00		
		Soup Spoons	1000 ct	50	Award	\$7.09	\$354.50		
32	Plastic Cutlery - Heav Hallmark or equal, ** Must provide col	or samples	1000 ct	15	Auronal	¢40.67	\$205.0E		
	Teaspoons Teaspoons		1000 ct	15	Award Award	\$19.67 \$34.99	\$295.05 \$524.85		
	Forks - Wh	V. 1	1000 ct	15	Award	\$19.67	\$295.05		
	Forks - Blue		1000 ct	15	Award	\$34.99	\$524.85		
	Knives - W	hite	1000 ct	15	Award	\$19.67	\$295.05		
	Knives - Blu	ie	1000 ct	15	Award	\$34.99	\$524.85		
	Soup Spoo	ns - White	1000 ct	15	Award	\$19.67	\$295.05		
	Soup Spoo	ns - Blue	1000 ct	15	Award	\$34.99	\$524.85		
33	Plastic Cutlery - Serv 8 ½ ", heavyweight, F equal, box of 144		144 ct	10	Award			\$19.10	\$191.00
And British and Br		Spoons	144 ct	10	Award	(72 ct)		\$19.10	\$191.00
		Tongs	144 ct	10	Award	\$20.79	\$207.90		

**Long Beach City School District** 

	Long Beach City School Di	<del>~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~</del>		T	n	γ	2008 - 2	
Item <sup>4</sup>	Item / Description	Pack/ Size	Est Qnty	Award	APPCO	Extension	Bar-Boy	Extension
34	Plastic - Food Wrap polyvinyl, institutional size, 2000' rolls with cutter box, Vitafilm or equal 12"	1 ct	20	Award	\$9.97	\$199.40		
	18"	1 ct	80	Award	Ψο.στ	<b>V</b> 100.10	\$14.76	\$1,180.80
35	Plastic Gloves - 1.25 Mil Handgards or equal, 1000 gloves per pack	1000 ct	10	Award	\$3.95	\$39.50		
36	Plastic Gloves Powder free, latex glove	4/100 ct	10	Award			(1000 ct) \$30.37	\$303.70
37	Portion Cups - Souffle Plastic, translucent, with lid 5 oz cup	2500 ct	20	Award	\$54.63	\$1,092.60		
	Lid	2500 ct	20	Award	\$39.79	\$795.80		
38	Portion Cups - 2 oz. plastic, translucent, no lids	2500 ct	5	Award			\$31.14	\$155,70
3	Mylar Ribbon, Royal Blue ** <b>Must provide color samples</b>	24 ct	2	Award	\$47.67	\$95.34		
40	Salad Bowl, Oval, Plastic - Clear Quart	50 ct	10	Award	\$48.67	\$486.70		
	1/2 Gallon	50 ct	10	Award	(24 ct) \$47.83	\$478.30		
41	Salad Shaker Container w/lid Must be Clear _12 oz - Clear	1000 ct	20	Award	\$88.79	\$1,775.80		
	21 oz Clear	500 ct	20	Award	\$69.99	\$1,399.80		
	Dome Lid, Clear, No Hole	1000 ct	30	Award	\$63.79	\$1,913.70		
42	Sandwich Bags - Paper #5 Heavy weight, lunch style, brown paper bag	2000 ct	20	Award	<b>\$44</b> .73	\$894.60		
43	Sandwich Bags, Greaseproof 6" x 5/8" x 7" Sunshine Floral or equal	1000 ct	15	Award	\$16.86	\$252.90		
44	Soup Container - Styrofoam  Bowl, squat - 8 oz white	1000 ct	10	Award	\$24.73	\$247.30		
	Lid must fit 8 oz squat bowl	1000 ct	10	Award	\$12.49	\$124.90		
45	Sternos 7 oz can, 72 CT	72 ct	5	Award	\$39.73	\$198.65		

**Long Beach City School District** 

	Long Beach City School D		·	n	·		ZUU0 - A	<u> </u>
Item		Pack/	Est	].				
4	Item / Description	Size	Qnty	Award	APPCO	Extension	Bar-Boy	Extension
46	Stirrers, plastic							
40	5"	10/1000ct	5	Award	\$10.99	\$54.95		
	<u> </u>	10/100000		7 twara	Ψ10.55	ψ54.55		
	7"	10/1000ct	5	Award	\$16.87	\$84.35		
0.00	~						-	
47	Table Cloths Roll, 40" wide x 200' long				Plastic			
	1 roll per case	1 ct	5	Award	(300') \$9.99	\$49.95		
				7	Ψ0.00	ψ 10.00		
48	Table Cloths - Plastic							
	** Must provide color samples	0.4			***			
	54 x 108 - White	24 ct	40	Award	\$19.97	\$798.80		
	54 x 108 - Royal Blue	24 ct	40	Award			\$20.64	\$825.60
				7 111515		<del>                                     </del>	<b>V20.01</b>	Ψ020.00
	82 x 82 - White	12 ct	20	Award			\$16.68	\$333.60
	82 x 82 - Royal Blue	12 ct	20	Award			\$16.68	¢222.60
	02 X 02 - Noyal Blue	12.01		Awaru		<del> </del>	\$10.00	\$333.60
49	Table Skirts							
	Specify brand and count							
	White	12 ct	20	Award			\$35.40	\$708,00
	Royal Blue	12 ct	20	Award			\$35.40	\$708.00
	Noyal Blue	12.00		Awaiu			φ30.40 	\$700.00
50	Toothpicks - Frill							
	1000 per pack							
	3 1/2 - Assorted	10/1000 ct	5	Award			\$11.61	\$58.05
	4 3/4 - Assorted	10/1000 ct	5	Award			\$14.90	\$74.50
		70.1000		/ mara			Ψ11.00	Ψ1 1.00
51	Trays, Lunch Trays - Foam							
	White 5 compartment	500 (	500		440.00	00 105 00		
	500 per case	500 ct	500	Award	\$18.99	\$9,495.00		
52	Trays - Lunch Trays - Paper(Pulp)							
	Disposable, 5 compartment,							
	250 per case	250 ct	1000	Award	\$22.79	\$22,790.00		
53	Wire Catering Racks							
	for full size aluminum pan	12 ct	5	Award	\$2.95	\$14.75		
		1		7	<del></del>	••••		
	Wire Catering Racks		_					
	for 1/2 size aluminum pan	12 ct	5	Award	\$2.95	\$14.75	Т-4-!	<b>604.040.40</b>
					Total	\$64,368.74	Total	\$24,313.40

#### Bid #490

## **Natatorium Sound System**

Whereas, the legal notice advertisement was placed in the official paper of the District on July 31, 2008, 8 vendors were mailed bid documents, and bids were opened at a public meeting on August 14, 2008 at 11:00 AM and the following vendors submitted bids:

Advance Sound Co. \$9,650.00 Norcon Communications \$12,800.00

Based on a review of the bids, be it resolved that the award be made to the lowest responsible bidder as follows:

Advance Sound Co \$9,650.00

Bids were reviewed and recommended by:

Frank Ruggiero Gregory Lustberg

## **BID #767 OOD HANDICAP TRANSPORTATION**

Whereas, the legal notice advertisement for Bid #767 was placed in the official paper of the District on May 22, 2008, 10 vendors were mailed bid documents, and bids were opened at a public meeting on July 29, 2008 at 11:00 AM and the following vendors submitted bids:

Acme Bus Independent Coach We Transport

Rivlab First Student

Based on a review of the bids, be it resolved that the awards be made to the lowest responsible bidder as follows:

ITEM#	DESTINATION	VENDOR
1	Daytop Village	We Transport
2	Torah Academy/Far Rockaway	We Transport
9	Six Hour Van	We Transport
3	EAC	First Student
6	BOCES/Greenvale	First Student
7	Henry Viscardi	First Student
8	BOCES/Massapequa	First Student
4	Variety Pre-School	Independent
5	Sappo School	Independent

See attached list

Bids were reviewed and recommended by:

Robert Sambo Gregory Lustberg

#### Bid #448

## **Vending & Catering Beverages**

Whereas, the legal notice advertisement was placed in the official paper of the District on June 2, 2008, 5 vendors were mailed bid documents, and bids were opened at a public meeting on June 12, 2008 at 11:00 AM and the following vendors submitted bids:

Coca-Cola Enterprises Big Geyser

Based on a review of the bids, be it resolved that the award be made to the lowest responsible bidder as follows:

Big Geyser

Item 33 & 34

Bids were reviewed and recommended by:

Kevin Hannon Gregory Lustberg